VARIABLES: ALGEBRAIC EXPRESSIONS IV (E-5)
ADDITION AND SUBTRACTION WITH BRACKETS

Name:

Time: Score:

57)

(102 + 2y) + 6y — (bx — 0z — 4x) =
58)

(z + 5x) + (10y 4+ 2y) + 32 — 2z =
59)

(4z +bx) + (dy — 0x + T2) — 4y =
60)

dy + 5y + (102 — 02) =8z —y =

61)

(62 — 62 4+ 10y) — (by — O0x) + 9z =

62)

(9y — 2y) + (6x — 3x + 62) — Ox =

63)

r4+5r— 4z —4z)+6x+y =

64)

(0z +72) — 7z + (6 + 37) + Sy =

Mathematics: Variables - Level 5 - Expressions - Set 5 9 © workulum.com


https://www.workulum.com

